SOE‘v80°LE $  000's.8L
000'STS $
000°000°€ $
0000002 S
000SZT’S $  000000C
000'SLE'S $  000'S8'S
€1°S0£°690'8T  $
[8J0] puel) 0707

$

$
$

000‘9.€’6 S 000v6v'y S

000'STS S
000000 $
000000 $
000'sZT’s S
000'000c ¢ 00000S S
00°0009€£‘T $  00°000'V66 $
6107 8107

vve‘eLe’'s S

€Q'EVTTU6'E S
L10T

d83 X AJanjep

T90°£9€’8

$

0€'T90°29€'8 $

9107

000000°s  $ - $ [ejo ], puein
puog d10) @s1 Yo uony
VN4

9244

JWTHA

g1H4

00°000°000°€ $ a

adf],

S10? rioz

dVd jo wng

S1/0€/9 4O SV LIOdAd INHINLSHANI A THLNOW

ALNNOD NOINN



